CCM2 - Probablhty Review
Probablhty Test -Be able to. answer the followmg:
. Y} Venn Diagrams:

- a. draw them
b, answer simple questions
¢ determine probablhty

2. Union, intersection and complement of sets

3. Determine sample space
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REVIEW:
(Create a venn diagram for the follow:_g)

ame: 5@”(/ I o

4, Determine number of possible outcomes
a. counting principle

5. Probabﬂlty

e G condltlona.l probablllty':‘ :

a. “baby” probability of one item
b compound probability
i. multiplying (independent vs dependent)
ii adding (mutually excluswe. 7 mcluswe)
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1. 74 models were hired for the spring shows at a certain Paris desngn house and 'rhe fomﬁfor‘mﬂ:on about
their body piercing was.compiled, Nete: Ears count as one piencing, - et e :

* Among the models with pierced ears combined with another bod\y biéréing, half the difference between all
three parts pierced and only ears and nose pierced have only their ears and tongue pierced,

- 18.models have multiple piercings.
All but 5 models have pierced ears.

There are 10 models ho had all three parts plerced
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No model has pierced her nose or her tongue without piercing her ears as well, but one plerced bo'rh her‘
nose and her tongue without piercing her ears.

£. The follawing Table shows the results of a survey in which 90 dog owners were asked (1)
how much they have spent in the last year on their dog's heatth care and (2) whether their dogs were purebred
or mixed breeds. The results are summarized in the table below.

‘ Ty.pc of D&g |

Purebred Mixed Total
Breed
‘Health | : - Less than- | "~ 19 | 2l | 40
1 Care $100
$100 or more 35 15 50
T Total - 54 86 - | 907

a. Find the probab&lﬁy 'rha'r $100 or more was spent on a randomly selected dog's health care in the last

year, 5 O _
q
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b. Giventhata r-andomly selected dog owner spenf less fhan $100 fmd ’rhe probablln‘ry ‘rha’r the dog was a

mixed breed.
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o c Find ‘(he probablltty ’rhaf a randomiy selected.dog: owner spent $100 or fnore on health care and the dog

" was a mixed br_f_eed ’
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3 If youroll a die and plck a curd from a standard deck, how many.outcomes are possible? . .. -

e 52= 312




4. IFA=(2,3,456,789) 8 = {6,810} Create a Venn Diagram of the sets

a, find AUB b. find AN B c. A% - .
%‘-2 54,5, 8;4?/.{)2 gg(p, @% ‘ i /Of'
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5 In homzr'oom 3 of the 16 glrls have red hair and 2 of 'rhe 15 boys have red hair. What is _ﬂw probablhty of
selecting a boy or a red-haired %:erson as homeroom represen’rahve to student councﬂ? '
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6. Lynn collec’rs s’rarnps from dlfferem‘ coum‘r‘ies He has fwe from Canada, two from ance.‘ one from Russia
four fr'orq Great Britain, and one from Germany. If he accidentally loses one stamp, what is the probability

that it is the stamp from Russia? | / 3
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7. Compute the probability of drawing twe aces fromia well-shuffléd deck of 52 cards if the first card ishot

r'eplaced befor-e the Second curd is dr-awn
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8. Suppose you are going to throw two fair dice. What is ‘rhe pr'obablllfy of ge’f‘rmg ab on ‘rhe flrsT dle and abon

the sacond dIB? i N __I,__
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9. If a fair die is thrown, fmd fhe pr-obablh'ry rhe. face shows a number grea?er ’rhan 2 gwen that it is prime. - |
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10. A standard deck of cards is shuffled and one car'd i8 drawn Find the prnbabnll‘ry that the card is red ora

Jack. 2L iﬁ_;;xgi'ﬁ ZCJ__ +
g, " 52 53 0 By e

11.In a box of 11 parts, four' of the parts are defective. Two parts are salec‘red dat random, one at a time, without

replacement,

a. Find the probability that both parts ﬁre defective. b. Fmd 'I'he probabllﬂy that both parts are not
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12. The two-way table shows the favorite leisure activities for 5Q adults - 20 mien and 30 women.’

If a perscn were selected at random from the above survey:

" ) What is the probability that a person selected is a women? - 0. 2
55
b) What is the probability that a person selected likes to dance?}ﬁ . 9

c) What is the probability that a persen selested likes s’poh‘rsgi\?e:? -
that they are male? j ¥ : .
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